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Systems of Equations & Incgualities Name:
REVIEW FOR TEST

— 1} The junior class sold 120 turkey dinner plates and 200 chicken dinner plates for a total of $2,150. The senior
Iags sold 100 turkey plates and 300 chicken plates, raising $2,625. What was the cost of each turkey plate7
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2) Given: 6x - 3y = 42 and 4% 4, what is the sy of x and y7 ‘f‘qrv\ﬁx pﬁﬂ“ X':f 7‘6
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{wen the system of equauins 6x+y=97 and 4x + 2y = 9.8, what is the value of x?
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5} Henry wants to join a book- of-the-month club. The first club costs $40 to join and $10 per book. The second
lub costs $15 per book and has no fee to join. How many books would need to be purchased from each club
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71 Pam paid $13.35 for three hamburgers and two drinks. Michael paid $18.15 for four hamburgers and three j

drinks. What is the cost ofo Bhamburger and one drink? \(\ \/\am\}uf“é e:“i d éd"”\ W%
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8) Aregion is defined by this system:y > 2x + 1 and y < -x - 2. In which quadrants of the cocrainate plane is the
region located?
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etermine anch of the following poin alSaSOIU icn to the system of inequalities.
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10} Graph the following system of inequalities. y <3 r=ml 7 L LA

a) Name a point that lies in the solution set. ~ ; 5 =
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b) Name a point that does NOT lie in the solution set.
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